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QUESTION 1

Which two databases are supported by App Volumes 2.x? (Choose two.) 

A. Microsoft SQL Server Express 2008 

B. Oracle 11g 

C. vPostgres 

D. Microsoft SQL Server 2012 SP3 

Correct Answer: AD 

 

QUESTION 2

Within VMware User Environment Manager management console, which are the correct Triggers for the Triggered
Tasks? 

A. Restart workstation, Shutdown workstation, Disconnect session, and Reconnect session 

B. Lock workstation, Unlock workstation, Disconnect session, and Reconnect session 

C. Lock workstation, Unlock workstation, Logoff User, and Login User 

D. Disconnect workstation, Reconnect workstation, Lock session, and Unlock session 

Correct Answer: B 

 

QUESTION 3

Users at a branch office are experiencing poor virtual desktop performance. The branch office has ten users and a
2Mbps link to the datacenter. Some of the users frequently access video content, but the performance issues began
occurring after a recent Group Policy Object (GPO) change. The performance issues do not occur when the same users
connect from the main office, which has a 10Mbps link to the data center. 

Which PCoIP GPO change is most likely the cause of the performance issues? 

A. Turn off Build-to-Lossless = Enabled 

B. PCoIP session audio bandwidth limit = 100kbps 

C. PCoIP client image cache size = 260MB 

D. Maximum PCoIP session bandwidth = 4Mbps 

Correct Answer: D 

 

QUESTION 4
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An administrator needs to provide access to a View virtual desktop for users in Domain A and Domain B. How should
the administrator configure the domains and the View implementation? 

A. Install a View Connection Server in a resource domain and create a one-way trust to both Domain A and Domain B. 

B. Install a View Connection Server in Domain A and create a one-way trust to Domain B. 

C. Install a View Connection Server in Domain A and create a two-way trust between Domain A and Domain B. 

D. Install a View Connection Server in a resource domain and create a two-way transitive trust between Domain A and
Domain B. 

Correct Answer: C 

 

QUESTION 5

Which two operating systems support the View Connection Server? (Choose two.) 

A. Windows Server 2012 R2 

B. Windows Server 2008 R2 SP1 

C. Windows Server 2008 R2 

D. Windows Server 2012 

Correct Answer: AB 
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